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7. 3

8.

g = 9.81 m s 2

G = 6.67 × 10 11 N m2 kg 2
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1. X 50 km h 1

Y 80 km h 1     

 

 

 

 X Y M  

 A. 63.2 km h 1   

 B. 64.3 km h 1   

 C. 65.0 km h 1   

 D. 66.7 km h 1   

 

2. a

d  (I) (II) (III) 

d 150 m 10 m s 1  

 

 

 

 

 

 

 

 

 

  

 

 (1)  (I)  (III)  

 (2)  (II)  

 (3) 250 m 17.3 m s 1  

 A.  (1) 

 B.  (3) 

 C.  (1)  (2) 

 D.  (2)  (3) 
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3.  

 

 

 

 

 

 

   

A.  

 

B. 

 

 

C. 

 

 

 

D. 

 

4. 20 N 40 N

60  

 

 

 

 

 

 

 

 

A. 17.3 N 

B. 22.7 N 

C. 24.8 N 

D. 30.0 N 
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5.  4 N P 1 N Q P

20 N P P

P 0.6 P Q

 

 

 

 

A. 3.52 N  

B. 3.52 N  

C. 3.40 N  

D. 3.40 N  

 

6. F L  

 

 

 

 A.       

 B.       

 C.  FL     

 D.  FL     
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7. X Y

 X Y 0.5 kg 1 kg Y 1 m

 Y  

 

 A. 3.62 ms-1 

 B. 4.43 ms-1 

 C. 6.26 ms-1 

 D. 9.81 ms-1 

 

8. P Q AB BC

h P A Q B P

Q  

 

 

 

 

 

 

 C   

 (1)  

 (2)  

 (3)   

 A.  (1) 

 B.  (3) 

 C.  (1)  (2) 

 D.  (2)  (3) 
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9.  

 / s

 / kg m s 1

1 2 3 4
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 A. BC  

 B. DE 

 C. CD 

 D. AB 

 

10. 100 m s 1  

 A. 102 m 

 B. 509 m 

 C. 1019 m 

 D. 5097 m 

 

11. 3 m

12 m  

 

 

 

  

 A. 0.4 s 

 B. 0.6 s 

 C. 0.639 s 

 D. 0.775 s 
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12. A B O

O A B R1 R2 A B

  

 

 

 

 

 

 

 A. 1  1 

 B. 2  1 

 C. R2  R1 

 D. R1  R2 

 

13. 

 

 (1)  

 (2)  

 (3)   

 A. (1) 

 B. (2) 

 C. (3) 

 D.  

 

14.  g  

 A. g  

 B. g  

 C. g  

 D. g  
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15. d 8.8 N kg 1 2d 

 

6370 km  

 A. 5.77 N kg 1 

 B. 7.79 N kg 1 

 C. 7.94 N kg 1 

 D. 17.6 N kg 1 

 

1. 1.1 10 kg

P  

 

    1.1 

 

 1.2  

   1.2 

 

 (a) t = 0.5 s 3 s       2  

 (b) P    3  

 (c)  

  (i)  

                 3  

  (ii) t = 0 s 9 s   3  
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2. 2 X Y 4 kg 3 kg

25 N Y 3.5 m s-1

2 N

2

(a) 3

(b) t = 4 s X t = 4 s

6

3. (a) 3.1

136 N 65° T 3

(b) 3.2 4 kg 6 kg 

4

(c) 3.3 L

d L x

4

3.1 3.2 3.3

x
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4. A B A 

5 m s 1 B B 6 m s 1 A

B mA = 0.4 kg mB = 0.2 kg  

 

4 

(a) A         2  

(b)          2  

(c) B 3 m  

(i)     3  

(ii) B          3  

(d) (c)(i) 

                 2  
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5. 5 ABCD 12 m 

DE D 0.4 kg A 

D 15 m s-1

5

(a) ABCDE 3

(b) C 4

(c) DE 4 N

E 2

6. 0.5 kg U = 10 N

6 s

6

(a) 2

(b) 2

(c) r 2

(d) U

2


